S fn 2 FEE

EERERERRENESHBETES
(F25)

el Y= 4]






AN 2 AR AR O BT E R R R R R A IE TR (5 2 5)

AN 2 AR R O E R R R AR S EHHIE TR (G5 2 %5) 13, KIS
EHDEZAITED,

GING AR ALY
B4 AR TROBEIGIAKMZENEINE, 895 THABIML, %
ANEHTEOBREEFEANRNENENT, 346, 547FTHET 5,
2 A T EOMIEDKIAD XSy O 52X 5 & O NI IEZ O
AR TROSFIL, TH1R BAKETEMENICX D,

SF248 H 2 6 HiEH

tatEE & O &



&
EE

(Bf7 = 1)

M IE AT O%R

i IE

it

5 FEX 4

16,011

8, 895

24, 906

>
7

6,011

2,759

8,770

10, 000

6, 136

16, 136

&

7,337, 652

8, 895

7, 346, 547

H 1R AR T EAIE

N Giidi - )
K I HERTO%E i IE %E at

1 [E ERAERRORBREL 1, 590, 900 A17,000 1,573, 900
] F A e OR R 1, 590, 900 A17,000 1,573, 900
3 R4 4,995, 692 9, 000 5, 004, 692
WA Bh & 4,995, 692 9, 000 5, 004, 692
VYN 707, 067 759 707, 826
fih = FHg A& 707, 067 759 707, 826
5 4 10, 000 6, 136 16, 136
ik 10, 000 6, 136 16, 136
7 EES A 3, 850 10, 000 13, 850
[l 5 H 4 3, 850 10, 000 13, 850
% = 7 7,337, 652 8, 895 7,346, 547







S Fn 2 4 E E

B K

¢ PR BR KBl =

MEFPTR(FBE2F)ICE T IHHAE



T NI HE AR I 7 S LR 1 A i

1 #&

(i (R : 1)
K FIERTOZE | M 1E A 7t

1 [ERAERR IR 1, 590, 900 A17, 000 1,573,900
3 BRI 4,995, 692 9, 000 5, 004, 692
YN 707, 067 759 707, 826
5 #igie 10, 000 6, 136 16, 136
7 EES e 3, 850 10, 000 13, 850
% = 3 7,337, 652 8, 895 7, 346, 547




(BT - TH)
fMioIE Mmoo MOJE N 3
7 fHIERTO%A M 1E %A #t K & %) TR o i o .
B X O A& Hh ¥ i * %) i S 5
5 a4 16,011 8, 895 24, 906 2, 000 0 0 6, 895
% H = H 7,337, 652 8, 895 7, 346, 547 2, 000 0 0 6, 895




2 m A

1Kk 5 B R OR R

118 [ERAE R R AL
H MHIERTO%A W 1E % &t
1 — RO AR A [E B AR R A 1, 590, 000 A17,000 1,573, 000
3 1, 590, 900 A17,000 1,573, 900
3 B4 18 RABh4
1 ARBRAG AT B A2 A 4 4,995, 692 9, 000 5, 004, 692
it 4,995, 692 9, 000 5, 004, 692
VO YN 18 M SEHR A4
1 — RS FHEAS 707, 067 759 707, 826
3 707, 067 759 707, 826
53 b4 118 M4
1 4 10, 000 6, 136 16, 136
3 10, 000 6, 136 16, 136

(BN TH)
i -
5 i
X > A : 2
1 BEIEG A2 oy BLAERR A 12, 000 | BN 5> A 12,000
By
2 B K R0y 24, 000 | EIHEIL 5y 24,000
BAERRAL Sy
3 I REMNT 4y BLAERR A1, 000 | BN 5y A1, 000
Bisy

2 FERIAZ AT 4 9, 000 | KRR A 420y (THETRES3) 9, 000
6 & D —f% 2 EHE A 759 | = Dfh— S FH A4 759
4
Ml 6, 136 | AiT4FE ik 4 6, 136

12k RO BR

1R [E RO BR

TH R E R AE R AR R



7k EE e 1 IE [ S 4

(BAL - FH)
— \ . i -
i = 2 H
E FHIERTOZE | # E %4 X — L H
2 S5 R ik AR 091 el B 4 0 10, 000 10, 000 1 558 2 5 il IR AR 49 4 B 10, 000 | 55 5 S5 REARr 1 4 By < 10, 000
&
z 3, 850 10, 000 13, 850

Tk EESH A 1H EF e 2 B KEFERRHIHE)
—12— —13—




3 m

(BA72 - TH)

i ]
X 5 4
22 fERSH] T
e U5 R O —MRPL ORI PR IR B IR 1 4 2, 000
22 fEREBH|F K OFIG R 2, 000
— IR RE 5y 2, 000
22 fEEAH] 1
J OFI5 B O fE&4 759
22 EEEH|F K OE5 B 759
] VR 32 HH 4 5 4 759
27 4
O —fRFHERES 6, 136
27 M4 6, 136
WA B — S F A B IROE 6, 136

53k X HI4& 18 fEiE4 N ONEAHN
o IE R
H FHIERTOKA | i 1E %A H & I
= — AR
[l W 52 H 4 | = O b
1 — bR 6, 000 2, 000 2,000
[FREgPNEN MRS 4 )
B4 TR A A 4
55 (FHITARSY)
2,000
3EES 1 759 759
it 6,011 2, 759 2,000 759
53k w4 2 I {4
1 — =5 10, 000 6, 136 6,136
4
i 10, 000 6, 136 6, 136

— AR PRI PR IR AT 4




